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’ 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 0.00 ~ 4.00 50.09| ZhLlst |0.00 ~ 4.00|] 2.08 1.1 ZTh LS 1.00] 500 ~ 500 50.09] ZhLlst | 500 ~ 500| 2.08 1.1
5 100kN/mM%#BZ % -l -~ - -|3m%E#E2%|000 ~ 0.03] 3.05 16.34| 100kN/m%# 2z 3 - -~ - -|3m%#x%| 500 ~ 7.10| 3.05 16.34
ZTh st 1.00/ 000 ~ 1.20 19.42| Zh st 1003 ~ 1.20[ 3.00 16.05 ZTh s 1.00] 500 ~ 7.10 19.42] Zh st | 500 ~ 5.00[ 3.00 16.05
3 100kN/mM%#BZ % 1.00/0.00 ~ 035 105.13[3mZ#BRD| - ~ - - -| 100kN/mM%E#B 2% 1.00| 1092 ~ 11.87 105.13[3m%#BZ 5 -~ - - -
ZTh st 1.00/ 035 ~ 8.13 100.00f Zhlist (000 ~ 8.13] 233 12.49 ZTh LS 1.00] 500 ~ 10.92 100.00] Zh st | 500 ~ 11.87| 233 12.49
4 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/ 000 ~ 477 59.42| Zhuls |0.00 ~ 4.77| 1.85 9.90 ZTh s 1.00] 500 ~ 515 59.42| #hils | 500 ~ 515| 1.85 9.90
5 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst 1.00/ 000 ~ 5.14 64.06| ThLls |0.00 ~ 514| 1.73 9.26 ZTh LS 1.00] 500 ~ 550 64.06] ThbLlst | 500 ~ 550 1.73 9.26
6 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/000 ~ 7.73 99.20| ZhLlst |0.00 ~ 7.73] 2.36 12.64 ZTh LS 1.00] 500 ~ 1094 99.20| ZhLlst | 500 ~ 10.94| 2.36 12.64
7 100kN/mM%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
ZTh st 1.00/ 000 ~ 6.15 7712 #h st [000 ~ 6.15] 2.03 10.85 Zh LS 1.00] 500 ~ 829 77.12] Zhils | 500 ~ 829| 2.03 10.85
8 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#Bx 5 -~ - - -
ZTh st 1.00/ 000 ~ 7.31 93.16] ZhLlst |0.00 ~ 7.31| 1.90 10.15 Zh LS 1.00] 500 ~ 980 93.16] ZhLis | 500 ~ 9.80| 1.90 10.15
9 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLlst 1.00/ 000 ~ 514 64.05| ZhLls |0.00 ~ 514| 215 11.52 ZTh LS 1.00] 500 ~ 745 64.05| ZhLlst | 500 ~ 7.45| 2.15 11.52
10 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZTh st 1.00/ 000 ~ 6.35 79.86) #H 4 [0.00 ~ 0.00] 1.67 8.95 ZTh LS 1.00] 500 ~ 756 79.86| ThLlst | 500 ~ 7.56| 1.67 8.95
11 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 528 65.81| ZhLls |0.00 ~ 528| 194 10.38 ZTh LS 1.00] 500 ~ 6.20 65.81| ZhLls | 500 ~ 6.20| 1.94 10.38
12 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst 1.00/ 000 ~ 488 60.81| ZhLlst |0.00 ~ 0.00] 1.65 8.83 Zh LS 1.00] 500 ~ 522 60.81] ZhLlst | 500 ~ 522| 1.65 8.83
100kN/m%#BZ % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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